
REI120REI120 REI120

A
A

+
1
2

,0
0

+
2

,7
5

+
1

3
,0

0

s
p

a
d

e
k
 3

°

s
p

a
d
e

k
 4

°

s
p

a
d
e

k
 4

°

A
B

1 3

A
B

- d
ru

t o
d
g
ro

m
o
w

y
 F

e
Z

n
 Ø

8
m

m
 - is

tn
ie

ją
c
y

- d
ru

t o
d
g
ro

m
o
w

y
 F

e
Z

n
 Ø

8
m

m
 - o

d
c
in

e
k
 p

ro
je

k
to

w
a
n
y

- z
łą

c
z
e
 o

d
g
ro

m
o
w

e

9
0

2
0

0

9
0

2
0

0

E
I 3

0

EI 60

15
0

10
0

 5
0

2
00

2
8
0

1
6

0

9
0

2
0
0

9
0

20
0

9
0

9
0

2
0
0

9
0

2
0
0

2
0
0

90

R
E
I 12

0

h
p
=1

0
3

0
0

1
6
0

1
50

1
0
0 5

0
2
0
0

E
I 30

R
E
I 60

20
0
E
I 3

0

9
0

2
0
0

R
E
I 6

0

9
0

2
0
0

R
E
I 6

0

h
p
=1

0
0

1
4
0

1
3
0

1
1
0

20
0

EI 60

h
p
=1

0
0

1
4
0

1
8
5

E
I 3

0

E
I 3

0

h
p
=1

0
0

1
4
0

1
8
5

1
4
0

18
5
 h

p=
1
0
0

h
p
=1

0
0

1
4
0

1
3
0

1
1
0

20
0

1
4
0

13
0
 h

p=
1
0
0

1
1
0

20
0

h
p
=1

0
0

1
4
0

1
8
5

1
4
0

18
5
 h

p=
1
0
0

h
p
=1

0
0

1
4
0

1
3
0

h
p
=1

0
0

1
4
0

1
8
5

h
p
=1

0
0

1
4
0

1
3
0

1
1
0

20
0

1
1
0

20
0

h
p
=1

0
0

1
4
0

1
8
5

h
p
=1

0
0

1
4
0

1
3
0

9
0

2
0
0

1
1
0

20
0

90
20

0

h
p
=1

0
0

1
4
0

1
8
5

E
I 3

0
1

5
0

10
0

 5
0

2
0

0

2
8
0

1
6
0

hp
=1

0

E
I
 6
0

90

90

2
00

9
02
0

0

R
E I 1

20

902
0

0

902
00

9
020

0

20
0

9
020

0

140

190 hp=100

90 90
200 200

90
200

90
200

90
200

150
110 40

200

110 40
200150

140
190 hp=100

140

190 hp=100

140
190 hp=100

110

200
100

200

110

200

140
190 hp=100

110
200

110
200

100
200

140
190 hp=100

140
190 hp=100

110

200

90
200

110
200

90

200

140
190 hp=100

110

200

90
200

110

200

140
190 hp=100

13 x 15

32

13 x 15

32

1 40
130 hp=100

1 40
185 hp=100

1 40
130 hp=100

1 40
185 hp=100

1 40
130 hp=100

1 40
185 hp=100

1 40
130 hp=100

1 40
185 hp=100

1 40
130 hp=100

1 40
185 hp=100

1 40
130 hp=100

1 40
185 hp=100

1 40
130 hp=100

1 40
185 hp=100

1 40
130 hp=100

1 40
185 hp=100

1 40
130 hp=100

1 40
150 hp=100

13 x 15

3 2

13 x 15

3 2

13 
x 15

32

13 x
 1

5
32

h p=10
0

14
0

1
85

9 0
2 00

140

1 85
 hp

=1
00

h p =1
00

14
0

130

h p=10
0

140

1
30

hp
=1

00

14
0

185

1
40

13
0 

hp =10
0

h p=
10 0

1
40

185

140

18 5  h
p=

1 00

1 00
2 00

9 0
20

0

hp
=1 00

140

130

10 0
20 0

1
40

1 85
 h

p =1 00

90
20 0

1
40

18 5  h
p=1 00

140

13
0 h

p=
10

0

1
40

1 85
 h

p =10
0

190

12
0 h

p=
10

0

14
0

13 0 
h p=10

0

140

18
5  h

p=
1 00

902
0 0

90
20 0

9
020

0

902
0 0

90
2
0 0

90
20

0

9
020

0

90
2
0 0

9
0

2
0
0

100

200

14  x 14,6

3 21 3 x 15

32

14  x 14,6

32

N


